E: Non-Uniform Velocity: Graphing dvs  andVvs / cont.
So far, we have learned that the slope of a velocity versus time graph represents acceleration.

We can also find the area under a velocity versus time graph. The area represents the displacement
of the object.

Example 7: Find the total displacement of an object given the following velocity versus time graph.
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Example 8: Using the information from Example 7 to create a displacement versus time graph.
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Using the displacements calculated for each time
interval \ create 3 vs + ijh.
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